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3. Find lim (\/3;2 S =2

(A) oo
(B) -3

(C) —2v3
(D) 3D

(E) 2v3
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4. Find 1i
(A) —1/2
(B) o0
C) -0 .
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(E) 5/13

5. Find lim (
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6. The derivative of 423 + 322 + 22 + 1 is
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(At +z3 + 22+

(B) 42? + 3z + 2

(C) &®-1)/(z—1)

D)zt +23+z2+z+C

(ﬁEi)mscz + 6z +2

. The derivative of
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@ 6z° + 2z
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2z° — 21
©Z=x
o2 — 473
(zt+ 1)
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(D)

8. The derivative of z? tan(3z) is

10.

(A) 2z tan(3z) + 3z” tan(3z) sec(3z)
(B) 6z sec?(3z)
(C) 22 cot(3z)
23: tan(3z) + 3% sec?(3x)
(E) 6z tan(3z)

. The derivative of In(z?) is

(A) 3/z

(B) z/In(z)
(C) 3z%In(z?)
(D) 32z%/In(z?)
(E) 322/ In(z)

The derivative of y = 2%5(®) ig

(A) (cos(z)/z — sin(z) In(z))zcos=)
( )ezmcos(m)

(C) In(z)zoos

(D) — sin(a)zeese)-1

(E) (sin(z)/= — In(z))s*®

Lz d(‘zi‘)
d (3x*) +
- ) ¢ oA
o;f“; {L""‘- ) dt: ‘f--dd-*/f)

dx s H4l [x"*‘)L
(x"*‘ﬁz'
. ER,S"_!_ZM

4 E"L Faw (3w {
o v

z ; < d 3
— ﬁ(u] kea(Z ) ¢ X ;ﬁ{)m (3 \\

B
— 2R {-m(u\_ Fx’ oske G 2

- 2 SEEN!
5 ¥ tan(z¥) + X gu'[




3

16. The statement lim f(z) = L means

(B) if z < a then f(z) < L, and if z > a then f(z) > L s wewts ollowed %ﬁ fe _:w ok
(C) the function f is continuous at z = a ﬁf/‘-“ﬁ g £ Mf“ 6 \
(D) For z close to a, f(z) will be close to L ok x=a Mer flo)= %L_::; [p i

@for z close to a, but z # a, f(z) will be close to L L L e )

17. Which function is not continuous on its domain?
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19. The function f(z) = v/z? — 1 has natural domain:
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20. The line y = 3z + 1 is tangent to some curve at point e
(3,2). The normal line, at the same point, is " Horwad = barpeadie dor =
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21. The value of tan(5n/4) is

(A) V2/2
(B) —v2/2

(91

22,

23.

24.

25.

(D) V3
(E) -1

How many solutions are there to the equation
4(2%)* = g=.

Use the laws of logs to simplify log,s 75 + log,; 3.

(A) 2
(B) log,; 78
(C)5+1/5
(D) log(5) + log(1/5)
(E) logs, 225

Evaluate lim tanh(z).
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Evaluate sinh(ln 3).

(A) (e —e7%)/2
(B) 5/3
(C) 4/3
(D) cosh(—1In 3)
(E) (

E) (In(3) + In(1/3))/2
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31. The tangent line to curve y = cos(2z) at point (%,1) is

y=—
(B) y= i+ 1 — ¥
(C)y=+3Br+ 45— v

(D) y =% —2sin(2z) - (z — I)
(E)

32. Given the curve z%y® = 4z — y which passes through the
point P = (3,1), the slope at P equals

A) (4 —2zy3)/(32%y% + 1)
B) 3/(3z%y% + 1)
C) —25/14
D) 4/(3z%y% + 1)
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33. The curve in the previous question also passes through
(0,0). The Mean Value Theorem says

(A) for some z between 0 and 3, gﬁ =-3
: dy _

(B) for some z between 0 and 1, £ = 3

(C) for some z near 0, & =3

(D) for some y between 0 and 1, & =3

(E) for some z between 0 and 3, & = 1
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34. Given the initial value problem y' = z'/® y(1) = L then
the solution y = 32%* + C has constant

(A)C=1
(B) C=-2
(€) &'=2
(D) C=0
(E) C = 11/4
35. The inverse to function f(z) = m _T_ : is
(A) f(z) = =2
(B) f7(2) = o
(© 1) = &
(D) fH=z) = %
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